Construction division. Advice for giving credit to contractors/suppliers.

Sl. I regi	No site bills	1				- site bi	lls	(1)	1	
	npany Name:		252		Regis	ster		5/6	2022	
Name of Contractor			MRMLLP Site:					6 MR		
	re of work	1	Mahind	Sa	lu	mar	Gu	ijas.		
	k done	The same of the sa	iles wi	orb	d		al 1	- Blo	cb	
SI.	Villa/Flat/block no	[m Date	01	15/2	2 To	o Date	301	5/2021	
No.	VIIIA/FIAI/DIOCK NO) ,	Qty.	Rate		Units	Amou	mt	Contractors bill no	
1.	Towards F-B	lock						7/A	OIN NO	
2.	flat no = 104									
3.	SBUA (67%		911	16	1-	86t	14	,576		
4.	-1 . /.	81. 245		16	161- RAF		7900			
5.	200 366 per t.	lat	400	1-	81-	3ft		+2-00		
	6. bitchen & cuti		ility 80				3ft	1200		
7.		0								
8.					***************************************	THE PERSON NAMED IN COLUMN NAM				
9.										
10.										
11.		otal:	/				26,	896/	/	
Bill 1	required		es yno.		GST	bill requi	ired	OYES !	DNO.	
	surcment & sate sheet:	☐ Required☐ Not required		Measurement & estimate sheet:				Enclosed □ Not enclosed		
PO/V	VO no.	PO/WO date:						Caret Comment of the Caret		
Rema	orks: All	1/	sorles	com	ple	ted.	Address of the second of the s			
	and the second s		radicio estreni esta de la proposició de l	- inferior						
				***************************************		angle of the second		and the second s		
***************************************							<u> </u>			
				- Allen de la Companya de la Company						
Appro	oved by Project Ma	nage	Appro	ved by	y Desi	gn Team	Apj	proved by	M.D.	
Date:	^		Date:	Date:				e:		
		75	Sign:	Sign:				n:		
Sign:	11	1	7-8			em t C			ing labour hills hi	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and uncasurement shocts are not required for turnkey jobs where guideline rates are clearly given.

MEASUREMENT	SHEET						D	
Company Name:	MRMLLP					Approved by:	Ramprasad	
Project:	Gulmohar Residen	су				Sign:		
Work Description:	Flooring and Bathroom tiles in F-104 flat							
Contractor Name: Mahendra kumar C		Gujjar						
Prepared By	K.Srikanth							
Date:	03.06.22							
			A	В	С	D	Ξ= AxBxCxΓ	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1	F-104 Flat						211.00	
	2'x2' flooring	SBUA 1360sft(67%)	911	1.00	1.00	1.00	911.00	Sft
	2'x2' Skirting	Skirting 18%	245	1.00	1.00	1.00	245.00	Rft
	ZAZ SARINING	(200 sft per toilet)	200	1.00	1.00	2.00	400.00	Sft
	Kitchen&Utility	(80 sft per flat)	80	1.00	1.00	1.00	80.00	Sft

ESTIMATE SHEET							
Company Name:	MRMLLP					Approved b	Ramprasad
Project:	Gulmohar Reside	ncy	The second secon			Sign:	
Work Description:	Flooring and Bathroom tiles in F-104 flat					-	
Contractor Name:	Mahendra kumar						
Prepared By	K.Srikanth						
Date:	03.06.22						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
1	Vetrified tiles	SBUA 1360sft(67%)	911.00	Sft	16.00	14576.00	
		Skirting 18%	245.00	Rft	16.00	3920.00	
		(200 sft per toilet)	400.00	Sft	18.00	7200.00	
		(80 sft per flat)	80.00	Sft	15.00	1200.00	
						26,896	
	Amount in wor	ds:Twenty Six Thousar	nd Eight Hui	ndread N	inety six Ru	ipees only.	
	Amount in Wor						

Allowance for Consumables

Mahendra Kumar Gujjar mallapur, Hyderabad.

Date: 06.03.22

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Tiles work at F-Block

Towards:

Allowance for Consumables.

S No.	Description	Amount		
1.	Brief description of work done: Tiles work at F-Block	Imount		
	flat.no:104	Rs.5,379/-		
	Total Amount = $26,896$ /-	105.5,577/-		
	Work done from date 01.05.22 to date 30.05.22			

Amount in words: Five Thousand Three Hundred And Seventy Nine Rupees Only.

Sign: ___

Bill for Labour Charges

Mahendra kumar Gujjar mallapur Hyderabad.

Date: 03.06.22

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles work at F-Block

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Tiles work at F-Block	
	flat.no:104	Rs.10,758 /-
	Total Amount = 26,896/-	
	Work done from date 01.05.22 to date 30.05.22	

Amount in words: Ten Thousand Seven Hundred And Fifty Eight Rupees Only.

Sign:

Bill for Equipment Allowance

Mahendra ku,mar Gujjar mallapur Hyderabad.

Date: 03.06.22

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Granite Laying at F-Block Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Tiles work at F-Block flat.no:104. Total Amount = 26,896/-	Rs.10,758 /-
	Work done from date 01.05.22 to date 30.05.22	

Amount in words: Ten Thousand Seven Hundred And Fifty Eight Rupees Only.

Sign: